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1.1 Most DBMSs support the creation of views, Which one of the following is
incorrect? (A} Because each user has his or her own view, different users can
view the same data in different ways. (B) Views can not provide data
independence. (C) Views provide a measure of security. (D) A view is an
application program’ s or an individual user’ s picture of the database.

1.2 Referring to functional dependence in database, which one of the following is
incorrect? (A) One can determine functional dependence by looking at sample
data. (B) Assume the values for column A in the B relation are unique. Thus,
all the other columns in the B relation are functionally dependent on A. (C)
Understanding functional dependence is crucial to learning normalization. (D)
A column B is functionally dependent on another column A if each value for
A in the database is associated with exactly one value of B.

1.3 To implement a relationship in fhc ER (Entity Relationship) model,
of one entity appears as a foreign key in the related entity. (A) the derived
attribute (B) the primary key (C) the secondary key (D) the related participant

1.4 Which one of the following is the advantage of the database with controlled
redundancy? (A) Consistency (B) Independence (C) Integrity (D)
Encapsulation

1.5 In a roliback, also called backward recovery, the DBMS uses the log to
. any changes made to the database during a certain period. (A)
1 backup (B) reenter (C) undo (D) modify

1.6 In the design of a relational database, the normalization process enables you to
identify the existence of what potential problems? (A) concatenation (B) illegal
determinants (C) incorrect decomposition (D) update anomalies

1.7 Which one of the following is a process-centered technique that is usged to
' model business requirements for a system? (A) Structured analysis (B)
Prototyping (C) Information engineering (D) objkct oriented analysis

1.8 The design strategy of rapid application development (RAD) calls for the
interactive use of and to define the wusers'
requirements and design the final system. (A) 3® GL and 4GL (B) structured
techniques and prototyping (C) UML and prototyping (D) DFD and ERD

,gf;’r‘_. ! 1.9 Which one of the following is incorrect referring to object-oriented analysis
/y"" and design? (A) Object technologies are an atternpt to eliminate the separation
; of concerns about data and process. (B) Object modeling is a technique for
‘%’ identifying objects within the systems environment and the relationships
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between those objects. (C) The UML prescribe a method for developing
systems. (D) The object-oriented approach to system development is based on
the concept that objects exist within a system’ s environment.

1.10 What is the technique wherein the attributes and behaviors that are common to
several types of object classes are grouped into their own class? {A)
Encapsulation (B) Object modeling (C) Aggregation (D) Generalization

1.11 Which one of the following is a model-based technique wherein standard
parameters based on prior projects are applied to the new project to estimate
duration of a project and its tasks. (A) GANTT (B) PERT (C) COCOMO (D)
WEBS

1.12 Referring to physical data flow diagram (physical DFD) in systems analysis and
design, which one of the following is incorrect? (A) In structured analysis and
design, physical DFDs of the target system are intended to propose and model]
technology choices and design decisions for all logical processes, data flows,
and data stores. (B) Physical DFDs serve as a technical blueprint for system
construction and implementation. (C) Physical DFD is the primary tool used to
develop the application architecture for the information system. (D) Systems
analysts draw physical DFD to model the system’ s raw data before they draw
the data flow diagrams that illustrate how that data will be captured, stored,
used, and maintained,
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2.1 Decision trees
2.2 K-means algorithms
2.3 Binary trees
2.4 Hash maps
2.5 Switched virtual circuit (SVC)

2.6 Sliding window
2.7 Mesh topology
2.8 Acknowledgement (ACK)
2.9 Cloud computing
~2.10 Petri net
2,11 Minimum-cost spanning trees
2.12 Divide-and-conquer algorithms
2.13 Priority queues
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public class Account{
private int balance; /MRSRER AR2E:
private String name; /£S5 # -2,
private String AccNO:; /MiE%E

public Account(int balance, String name, String AccNO){
(1) SERAREIZR (constructor) (3%)

}
public String getName(){
return name; )
public void setBalance(int balance){
this.balance = balance; )
public int getBalance()(
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return balance; }

}

public () {
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(2) SERR Transaction ARIFEAYER S (2%)

private Account a;

(3) L EE—{Bstatic variable "counter” (2%)

public Transaction(Account a){
this.a = a;

(4) SERKA(Transaction) 2H#IZ (2%)

)

(5) SEELA (Transaction) 83 (3% )

}

public class Deposit extends Transaction{
private Account a;

public Deposit(Account a){
super(a);
this.a = a;
}
public void amendBalance(int amount){

A5 R A B IR R 48

(6) SERKZE 5% (amendBalance) #I P2 (1.5%)

}
-

public class Withdraw extends Transaction{
private Account a;
public Withdraw(Account a)(
super(a);
this.a = a;}
public void amendBalance(int amount){

(7) SERkATJ5 3% (amendBalance) N2 (1.5%)
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}

import javax.swing.*;
public class Demo {
public static void main (String args [1){
Account a = new Account(1000, "john", "8923345");
Transaction t = null;
mtrl, r2;

do {
r1 = Integer.parseInt(JOptionPane.showInputDialog(" 8y A 32 S EIAE: (1) deposit,
(2) withdraw")); '

switch (r1){

(8) SERRswitchPI % - KRR AR B E RN S « &
B2 2238 Fdpolymorphismi®he: (4% )

1

12 = Integer.parselnt(JOptionPane.showInputDialog(" ¥y A 32 5 & 58: )):

(9) BROUZE 7754 38 Fdynamic method bindingf S A iEfT
RBLEVIIREIRRERENER (2%)

} while (JOptionPane.showConfirmDialog(null, " Another transaction?") =0);

JOptionPane.showMessageDialog(null, (10} );

(10) SEfkshowMessageDialog BB A BB LM THES R (4%)

Dear john i Bxi g %: 500
Number of transaction objects created: 2




